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What is a fruth table in Boolean
operators How do we access individual

What does the laser do in optical .
elements in an array

storage devices A fruth table is a table that shows all

possible combinations of operands | We access individual elements in
and their results for a Boolean an array using their index position.
operator.

It burns pits to store data.

What are the five common actions
that all database management
systems can carry out

What is a database management
system (DBMS)

What is the decimal representation
of the 8-bit binary number 01100110

The software that operates on data
stored in a database.

The decimal representation of the 8-

Create, retrieve, update, delete, | o o o number 01100110 is 102.

search.
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